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There is a lot of inertia with atmospheric CO2 levels. We have bumped them up from 280 parts per million (ppm) to 395 ppm, and we will likely exceed 500 ppm by 2050 at the current rate.This is not considered sustainable. Most climate scientist believe 350 ppm is close to the maximum sustainable CO2 level. The temperature rise from the current 395 ppm alone is expected to continue for several centuries.The negative effects are rising ocean levels as glaciers melt.Greenland ice alone will contribute close to 20 feet. This will likely increase the severity of storms, but is not expected to increase their frequency.Other consequences are heat waves, which often claim the lives of thousands of people. 35,000 people died from heat exhaustion in Europe in August, 2003. Only 750 people died in the 1995 Chicago heat wave.Tropical diseases are expected to spread to more northerly latitudes. Animal migrations are already noted, but the current rate of climate change is much faster than natural change, which may lead to the extinction of numerous species.
